Important Note : 1. On completing your answers. compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and for equations written eg, 42+8 = 50, will be treated as malpractice.
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First Semester M.Tech. Degree Examination, Dec. 2013/Jan. 2014
Computer Networks

Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions.

1 a Discuss the design requirements for computer networks. ( l[;%i&)
" )ﬁ b. Explain the following terms, with respect to computer networks : AN
s . (’b
g i) Band width AL
s (’11) Latency /\“
“{iD,Delay * bandwidth product. l' (06 Marks)

c. Cé #er a point ~ to - point link 2 KM in length at what a bandwidtkN&:culd propagation
de!ay"f’%speed of 2 x 10® m/sec) equal to transmit delay for 512 bytbpackcts. (04 Marks)

\“/a{ . - . ey
Draw a timéfiue diagram for the sliding window algorithm W'lt_lI"ja‘}WS = RWS =3 frames for

2 a
the following Rfa’situations. Use a time out interval of abo%ﬂ}q*{’ﬁTT.
i) Frame 4 is lost .. ,\j-—\‘“
il) Frames 4 — 6 aré.iosf. T (08 Marks)
b. AnIEEE 802.5 token ﬁ%&s five stations and a totidAlire length of 230 m. How many bits
of delay must the monitd jnsert into the ri Do this for both 4 and 16 Mbps. Use
propagation rate of 2.3 x 10 én’;ep. {05 Marks)
c.

What are the various consideratins ‘*oncemhﬁig hardware building stocks such as nodes and
links for constructing a computer nei‘%? (07 Marks)

3 a. Explain the sparring tree algog'ifhu} ﬁ:-\extended LAN. Show how the algorithm is

implemented. N - (12 Marks)
b. For the following network L(e-\the virtual circnrl ble for all the switches after each of the
following connections is lished. Assume thgthe square of connections stiil up while
the second correction ig&dtablished and so on. Alsd-assume that the VCI assignment always
picks lowest unusedq';é on each link. String with 0. %
i} Host A conngg{dfo Host B pa
i) Host C c@ts to Host G. A (08 Marks)
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4 a. With figure, explain IPV4 header format. 08 Marai':-?:

b. For a network given in Fig. Q4(b). Show how link state algorithm builds the routing table
for node D. (12 Marks)

Fig. Q4(b)
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§ a. Discuss IPV6 packet header format, in detail. (10 Marks)
b. For the network shown in Fig. Q5(b), using distance vector routing. Find the final routing
table at node A. Explain all the steps (Assume cost of each link is set to 1). (10 Marks)

/> . i
"%> , Fig. Q5(b) B 3;)
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6 a. Explain the TCP ﬁnt of sliding window protocol bh%w how this algorithm ensures
reliable delivery, ordefed delivery and flow control veen sender and receiver. (10 Marks)
b. Show the structure of T ¥sggment header. Explain tRe“functionality of each field.
i . {"'l S (10 Marks)
5, A
7 a. Briefly explain the taxonomy of r’__e§ou{ce allocation. (04 Marks)
. Explain in detail, RED mechanismé‘ gestion avoidance. (08 Marks)
¢. Explain FIFO and fair queuing alg@ (08 Marks)
8 Write short notes on : X :" .
a. SNMP . e
b. DNS m@Q &%3;;5
c. SOAP A Ce
d. REST. (}\5 {9 (20 Marks)
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